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1 KEEZS YL BERE IECE!
(1) @aaan - BKE

7—11 F—12 7—13 7—14 F—17 7—18 F—19 7—20 F7—-21 F—22 F7—32
No i B Mg B KED KED KED XE® BRIZNTR | HENLHRK KENTR HERR R R 5 AR #KEKIR
HiEE =it FRA BK - HEsh |EK - REKIR (BG) (BRE4E)
(B E ) (AR g %) ($R1EH)

AEEAR H20.9.3 H20.9.3 H20.9.3 H20.9.3 H20.9.3 H20.9.3 H20.9.3
S fEh KEh Bh Bh [0 BEh [0
TEER %I 10:54 10:46 10:37 10:25 11:26 11:05 10:08
SR °c 28.1 25.0 26.1 25.2 26.8 26.9 27.1
KB °C 19.2 15.4 10. 6 15.5 13.1 17.3 15.9
ERE & 21 2 30 = 30 = 30 = 30 2 30 = 30
i FiBE L] ) ) ) L )
BE R R LY R R B RS
188 mg/ 8 0.01 LIF — — — < 0.001 - — —
2 |BLE mg/ 8 0.01 LUF - - . < 0.001 — — —
M= 1=E¥ P mg/ £ 0.02 LLF - - - - - - -
4 (Mg RE mg/ 8 § 0.002 LUF - - = - - - —
5{1,2->4onxT4y mg/ £ § 0.004 LIF — — - — - - —
6|1, 1-CoonTFLy mg/ £ 0.02 LAF - - - - = - -
7|v2-1,2-YHopIFLy me/ 4 0.04 LAF — - - - - - -
8|11, 1-ry ORI RY mg/ 4 1 LR - — — — - - -
9. 1,2-r)ORxTa Y mg/ £ 0.006 LI'F — — - — - - —
WikysonTFLy me/ £ 0.03 LIF - = - - - - -
M|FrSY00TFLY mg/ £ 0.01 LUF - - — - - — -
12]1,3-4nn7oRy mg/ £ | 0.002 LAF - - - = - - -
1B|RUE mg/ 4 0.01 LIF - - -~ - - — -
14jzL> mg/ £ 0.01 LUI'F - - - - - - -

TR mg/ £ . = = - - = - -
U Epme rn e = = = = = = =
16|52 F mg/ £ 0.8 LIF - - - - - - —
17]IF5% mg/ 4 1 LT <0.02 <0.02 <0.02 0. 06 <0.02 0.02 <0.02
1B|FAAFI 8 pe-TEQ/ 4 1 LF — — - — — — —
W]TFLALEY mg/ £ - - - — - - - -
20T mg/ 8 - — — — — - - —
2% L mg/ £ - - - - - - - -
22|pH - 6.4 7.0 6.8 1.8 1.0 7.3 7.4
23|BOD mg/ 8 - - - - - - = -
24{cOD mg/ 4 - = — - = = — —
FHER mg/ £ - = — — — — = —
26|eEH mg/ £ — - — - — — — —
2112V A mg/ £ - - - - — - — -
2B|IBILA A4 mg/ £ — 8.7 8.7 49 59 5.0 36 5.9
29 | ESmER (#S/cm — 130 130 300 330 90 210 76




(2) ABHTK

7—6 7—9 7—10 7—23 F—24 F—31
o 5 & s **b;é’;fgf SY—VE | BABENE PPN mERE | mRxEnTr|sy—oERE
B No. 8#FF No. 157 TisE Rk #FK HT K
HEEHHE H20.9.3 H20.9. 3 H20.9.3 H20.9.3 H20. 9. 3
Kix BEh Eh BEh Eh BEh
FRE ) 10:42 1113 11:36 10:24 10:58
R °c 28.2 25.8 25 4 26.5 26. 8
kig °C 1.0 9.5 8.8 12.0 9.8
ELE s = 30 = 30 = 30 = 30 = 30
=L R 353} ) g mE
2R R R RE R R
ES me/ 0 0.01 LIF - 0. 002 0. 002 < 0.001 -
{8y (i) * mg/ £ 0.01 LIF — < 0.001 < 0.001 - -
S mg/ £ 0.01 LIF — 0. 001 <0.001 < 0.001 —
2" %k (B X mg/ 8 0.01 LIF - < 0.001 - - -
BZEEEED mg/ £ 0.02 LT — — - <0.001 —
4 |migfp mg/ 8 | 0.002 LIF - — — <°0. 0001 —
5[1,->oonx4ay mg/ 0 | 0.004 LLF - - — < 0. 0001 -
6{1,1->sooxTFLY mg/ £ 0.02 LIF - - - < 0. 001 —
1|v2-1,2-4500TFLY mg/ £ 0.04 LIF - - - < 0. 001 -
NI YELEEEL D mg/ 0 1T — - — <°0. 0005 —
9|1,1,2-ryyooxTAh Y mg/ 8 | 0.006 LLF — — — < 0. 0001 —
NIYEEEEE DY mg/ 9 0.03 LIF — — - <°0.001 —
HNEXECEEEE Y mg/ 8 0.01 LIF — - — <°0. 0005 —
12[1.3-CronroRy mg/ 9 | 0.002 LT - - - < 0.0001 -
B[Ry mg/ £ 0.01 LUF — — - <0.001 —
HizLry mg/ 0 0.01 LIF - - - - -
TEEE L =R mg/ f . - - - - -
N ne/ 0 10 2T = = = = -
16| 5% mg/ 2 0.8 LI — - - - -
17IE5% mg/ 8 1 LT 0.13 <0.02 0.14 <0.02 <0.02
8| FAAFLEF pe-TEQ/ 9 1UT — - - — -
9| ZFLREY me/ £ - - - - - -
20[rLzTy me/ 0 - - — - - —
20{F> Ly mg/ £ - - - - - -
22| p H - 6.4 6.5 6.9 6.8 6.3
23|15t 1 A me/ 8 — 5.3 60 27 13 52
4| BESEEE uS/cm — 360 340 300 140 95
25 | #h T K4 m — 45. 42 19. 70 22. 88 9. 42 4.07
X HKBHICBA L LBEREL, KEOKREMHIRET 5120, AV TS50 T4 A%— (AE045um) T 5l LI%O HEICDVNTHH £ =k,
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